
1)
Find the next three numbers in 
the sequence
8,10,20,22,44,46,92__,__,__

Answer: ____________

2) Factorise 3q2 + 14q + 15

Answer: ____________

3) Factorise 3q2 + 14q + 15

Answer: ____________

4) Factorise 3q2 + 14q + 15

Answer: ____________

5) Find area of triangle 
s = 2721 in

Answer: ____________

6) Write 10 x 10-1 as a normal number.

Answer: ____________

7) 06:01 am To 01:49 pm

Answer: ____________

8) Find area of square 
having each side (s)
equals 8260 ft

Answer: ____________

9) 3/44 of 176

Answer: ____________

10) Write 2 x 109 as a normal number.

Answer: ____________

11) Find area of 
rectangle having 
sides a = 6350 m 
and b = 2692 m

Answer: ____________

12) 1248 ÷ 32

Answer: ____________

13) 5033 + 9251

Answer: ____________

14) Round 11.38940833 to the nearest 
1000

Answer: ____________

15)

Name the type of angle.

Answer: ____________
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16) Find perimeter of 
rectangle having 
sides a = 8626 ft 
and b = 7502 ft

Answer: ____________

17) (-2421) + 8312

Answer: ____________

18) Write 20000 in standard form.

Answer: ____________

19) 4955.4 + 7409.6

Answer: ____________

20) Round 7.316804075 to 3 significant 
figures.

Answer: ____________

21) Share 42 in the ratio 3:39

Answer: ____________

22) Find area of 
rectangle having 
sides a = 9092 m 
and b = 8535 m

Answer: ____________

23) Find area of square 
having each side (s)
equals 1750 ft

Answer: ____________

24) Factorise 6d2 + 13d + 7

Answer: ____________

25) 35000 ÷ 1000

Answer: ____________

26) Convert the following improper 
fraction 308/17 + 222/3 into a mixed 
number

Answer: ____________

27) Find perimeter of 
triangle s = 8046 ft

Answer: ____________

28) Convert the following mixed number 
2117/6 into an improper fraction.

Answer: ____________

29) Find area of square 
having each side (s)
equals 4436 in

Answer: ____________

30)
144

6 /12

Answer: ____________
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31)
144

6 /12

Answer: ____________

32) 35.5 x 64.6

Answer: ____________

33) 08:27 am To 04:36 pm

Answer: ____________

34) Find the mode of the following set of data:

94, 94, 94, 94, 94, 142, 142, 142, 
142, 154, 154, 79, 79

Answer: ____________

35) Find the mode of the following set of data:

94, 94, 94, 94, 94, 142, 142, 142, 
142, 154, 154, 79, 79

Answer: ____________

36) Decrease 135 by 1/27

Answer: ____________

37)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

38) $381.72 earning 4% compound 
interest for 8 years.

Answer: ____________

39) Share 13 in the ratio 9:4

Answer: ____________

40) Find perimeter of 
square having each 
side (s) equals 6826 in

Answer: ____________

41) Find the range of the following set of data:

0.3, -18, 0, 8, 0.5, 6, 19

Answer: ____________

42) 5548 ÷ (-73)

Answer: ____________

43) Find the mean of the following set of data:

0.1, 37, 0.7, 72, 83

Answer: ____________

44) Find the median of the following set of data:

7, 23, 22, 5, 26, 5, 15, 39, 5, 11, 36, 
7, 6, 12, 32, 35, 28, 38, 40, 32

Answer: ____________

45) An amount was increased by 10% to 
$79.00. Find the original amount.

Answer: ____________
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46) 2712/17 x 57/8

Answer: ____________

47) 40
Find Volume of 

                        Rectangular Pyramid 
37

39

Answer: ____________

48) 9563 + (-7817)

Answer: ____________

49) Find perimeter of 
square having each 
side (s) equals 9541 in

Answer: ____________

50) 4452 + 9030

Answer: ____________

Total: ___ / 50
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Answers:

1) 94,188,190, 2) (1q + 3)(q + 5) 3) (1q + 3)(q + 5) 4) (1q + 3)(q + 5) 5) 3205957.1957904in 6) 1 7) 07 Hours 48 Mins

8) 68227600ft 9) 12 10) 2000000000 11) 17094200m 12) 39 13) 14284 14) 11.389

15) Acute 16) 32256ft 17) 5891 18) 2 x 104 19) 12365 20) 7.32 21) 1 : 41

22) 77600220m 23) 3062500ft 24) (6d + 7)(d + 1) 25) 35 26) 537/51 27) 24138ft 28) 143/6

29) 19678096in 30) 12 31) 12 32) 2293.3 33) 08 Hours 09 Mins 34) 94 35) 94

36) 130 37) 13,21,34, 38) $522.41 39) 1 : 12 40) 27304in 41) 37 42) -76

43) 38.56 44) 23.5 45) $71.82 46) 162105/136 47) 19240 48) 1746 49) 38164in

50) 13482
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